


Al
A

=

oo

tlo

ot

7rers] sh?

a+a2+a3+a4+a5+a6+a7

ad3+at+ad+aS+a"+ad+a?




Oha BH7JolA &2 A& 57 28 A2?

@m:Q% @ 2 2\/522

© 3 x(3¥2%) =9

© O @ 6.0 ® @.®
® 6.6 ® 6,0.6



a, b= e 2127

=
=

o], V24

1

o
|2
I

<

=l

=l

il

=l

=lo

Ll

il

Ll

alla)]

falloc)



ojn

@ 19 AAlEE S 8slee

It

o

%/g
29t {Z el

@ -3 AAFE F AL -

® V29 HlAlE

<
,AE
Njo
rJ

3



6. 4/2328 27 2 dehd w, p 4 9 3 Fatelet (F p, g

M2 A0l AL

&=
=F



©

@ a

3
a2

©)

@ A

D Va



a>0,a#19 9, V/ay/aYax 3V \/Va=d&WEA7= 52

T kO] g2

1
® 3 @

W =
e~ =
ool
NeRie



T no 32?

@ 4 ® 6 @ 8 ® 16

@ 3



10. Al 4= 7, V10, V345 22 ARH A2 ydg 222

D V7, V10, V34 @ V10, V7, V34 @ V34,7, V10
@ 34, V10, V7 © V10, V34, 7



11. Al A= 4, B= 6, ¢ = V139 ti&E Hlwshd?

@ A>B>C @ B>A>C ® C>B>A

@ A>C>B ® B>C>A



12. Al 4 /3242, V2R3, 23 E M E 42 M, VR

ola}@uﬂ,%ﬂ 7re?



Nt )

(10v52] 6 Al

A=
B
C=

Al <A, B, C

13.

@ A C ® B, A @ B, C ® C B

® A, B



= V3L o, V62 a, b2 e}

2, b

a =

14.

allo)]

=l

il

=lo

=lo

allo)]

=l

allo)]

alla)]

=l



15. (

1

27

)" ol A4t S B4 0l AR

@1 @ 2 ® 3 @ 4



2 4 3
16, (ot o ) & AN
O+ ¥3+1 Y9-B+1 et

O 12 @ 15 ® 18 @ 21 ® 24



17. x-y=2,24+27 =59 o, 8" + 87 2] gt-&?

@ 61 @ 62 ® 63 @ 64 ® 65



18. a? +ab =49 1) atalo e Tkl (S, a > 0)

5 J=X
=%



x3 + x—3




20. x+x'=39 W x2 +x 29 F?

@ V3 @ 3 ® 5 @ 245 ® 345



21. %+t =39 W, 2+ x20] F FohE?

O 33 @ 36 ® 43 @ 47 ® 49



ol

ol

2% 27
X 4—x

<t

2* =34 o,

22,









25.

px3 =1 ¢gx3¥ =1¢ 0, o=

ERR 2182

©) 2pq

@ 8pq

® pq

1 2x+y
3 (7> = p, q= HIEA



1 1 1
26. %5 a, b, c7tabe =9, a" =0 = =81 USZAA W, -+ -+ =
x y oz

of grg o2

@

W
N |

@

=



27. 20° =53, 20> =24 o, 1075 9] k22

D 25 @ 35 ® 55 @ 65 ® 75



28. 36°=38, 6" =4 u}, 255 2] r2?

® 4 @ 6 ® 8 @ 10 ® 12



29. 11* =25, 275 =125 4 o, 2
X

O -2

@ -1

@0

2 o)
y

Eis

©9

@ 1



30.

olW Ego] 187l Fo|E BAp| 2 St 2A
oz Z+o gL 9 g BEAME S E TtET} o A
U2EY 534 BAEA £8 9] Yol g TH o] Yo
S0 7oA FARZCIAM o] Hols 494 HARZl
ENERE L Nibd

—4—|—‘
jgmlm
N
~

@© 8 @ B ® B @ V4 ® V4



® 8

@ -4

® 3

© 3






AL

=

2
5

oo
Mo

=
K

@ Cl>OO]_T’_m,n(m>0,n>0)o] Zézl\_
@ a>0d M, (Y-a)® =-a°ltt.
® (-3)29 AlFZL 30t

Q]
=

@ no) Ad o, 39 nAlE Tl A

® Yaia= "Rfa(D, a>0)



34. o= T #el He A2?

D (V2)VV2*

©) ,/(\/ﬁﬁ)ﬁ
® V(var)a









